MACHINE GUARDING

ASSEMBLY INSTRUCTION
- JUST FOLLOW ME

MGB-PN FIXING 1&2 -

INTERACTIVE
ASSEMBLY
INSTRUCTION

KIT 36906360

PROTECTING PEOPLE, PROPERTY, AND PROCESSES. | troax.com 88754485 ver. 003 @


https://instructions.online/?id=2345-88754485

Kit MGB-PN Fixing 1

Euchner MGB-PN*

Holder sheet MGB
+ MGB-PN + ESL

Striking plate
hinged
MGB-PN

Bag for kit 6360 sscoc360

@ @ S

x15
% 4,2x13

@m

@ M6x10
N S x2
@4.8x14
@
x4 2 x8
M6x55 Méx25 ' M6x10
~ *Not included in kit

2/6 Kit 36906360 www.troax.com

€00 9/ G8YY5/88 10U WY



Art no: 88754485 ver. 003

Kit/Bag for kit 6360

NS

l M8x35 ‘) M8

or kit 6360

N Méx55

e
ﬁ = €
5 €
13 10 t

Bag for kit 6360 9
' Méx10 Mé
e MGB-PN MGB
5
www.troax.com Kit 36906360




Bag for kit 6360
%bew

Bag for kit 6360 (2
' Méx10 Mé

e MGB-PN

MGB

|

99

4/6 Kit 36906360

www.troax.com

Art no: 88754485 ver. 003



Art no: 88754485 ver. 003

Bag for kit 6360

:@:@ @4,8x14

Q r.. .........

%

Bag for kit 6360

7

Y
5

1 34
e

22

10

r

www.troax.com

Kit 36906360

5/6




Bag for kit 6360

% @4,8x14

‘.4-
Ba%bO ) ﬁ@:@
10
|
. il
r.-._
6/6 Kit 36906360 Www.troax.com

Art no: 88754485 ver. 003



